METRIC CONVERSIONS - PRACTICE NAME

Show Your Work!

1, imL 1L 1
_ y - L =0.001L
tmb - 1 1000mL _ 1000
2. 34m 100cm 3400
34m = X = cm =3,400cm
m cm 1 1rn
3.
10 mg = kg omg 19 kg __ 10 .4 00001kg
1 1000mg  1000g 1,000,000
4. 500mL 10004 500,000
500 mL = ul T 1mf = 4L = 500,00041
5.
52g = g 529 y kg _ .52kg _ 0.00052 kg
1 1,000g 1000g
6.
s ko — N 0.45:(L5 km _ L(J)J(()rc:]m ) 10]?§m _ 45600 e s00om
7. 0.3425 ML " 1,000,000 L " 1,000 mL _ .3425 x 1,000,000,000 mL = 342 500000 mL
3425 ML = mL 1 1ML 1L 1 ’ ’
8. 0.5789 Mg 1000OK
.5789 Mg (Mega) = kg 1 9 X L Mg 9._ 578.9kg
9.
0L = mL 12L  F000ML _ 15 60omL
10. 50 mm im 1km 50
_ _ km = 0.00005 km
50mm = km 1 1000mm  1000m _ 1,000,000
11. 2000mg 1g 1kg 2,000
_ ! y x I kg = 0.002 K
2000 mg g 1 1000mg  1000g _ 1000,000 2 g
% a3 nm 5,043nm il — 0.0005043cm
nm = cm 1 10,000,000nm
13, 2000,000mL 1L 2,000,000
2,000,000 mL = L ’ d X = L =2,000L
ms 1 1000mL 1000
14.
345kg = Mg 345kg, Mg _ 345 \\0_ 0.345Mg
15.
70 e — - 6,87f om 12£?nm 68790 o0 mm
16. 5,000g 1,000,000 g 5,000,000,000
5000 g = ug T T 1g = . 49 =5,000,000,000 /g
17. 100L 1kL 100
_ = kL =0.1kL
100L = kL 1 1000L 1,000




896,5994m ~ 1m 896599 o aoecoom

89659um=___  m 1 1,000,000 zm 1,000,000
. 1,000 ng y 19 N 100cg __ 100,000 cq = 1 0.0001cg
1000 ng = cg 1 1,000,000,000 ng g 1,000,000,000 10,000

900 kL 1ML 900

ML =0.9 ML

—_ X =
899 kL = ML 1 1,000kL 1,000
21. 48L 1.0567quarts 5.07216
481 = qts x = quarts =5.1quarts
1 1L
22. 22cuft 28.32L 623.04
_ X = L=623L
22 cuft = L 1 lcuft 1
23. 6pints 473mL 2,838
. _ X == mL =2,838 mL
6 pints = mL 1 1pint 1
24, 9.8L 1gal 9.8
_ X = al =2.59 gal
98L = gallons 1 37850 3.7850 g
25. _ 69.8in 254cm Im 1773 . o
69.8In = meters 1 1in 100cm - 100 B
26. 65cm lin 65 . .
_ . X = in=25.6in
65cm = inches 1 254cm 254
27. 88 mi 1km 88
. _ X = km =142 m
88 miles = km 1 0.621mi 0.621
28. _ 33m 100cm lin _3,300in —1299in
33 meters = inches 1 1m  254cm 254
29. _ 20in « 2.54cm B 50.8 cm =50.8cm
20 inches = cm 1 1in :
30. . 120 km 5 0.621mi 74.52 mi = 74.5 mi
120 km = miles 1 1km )
31. 56kg 2.2lb 123.2
_ X = Ib =123 1b
56 kg = Ibs 1 1kg
32. 1293g 1lkg 2.2lb 2844.6
1293 g = Ibs X X = Ib =2.8lb
1 1,000g 1kg 1,000
33. 160lb 1kg 160
_ T x—= ="""kg=T727k
160 lbs = kg 1 2210 229 g
34. 8.40z 0.0078gal 0.06552
8.40z = gallons 1 10z gal =0.07 gal
35.
3701 = - 370L N 1,000 mL _ 370,000 mL = 370,000 mL

1 1L




